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Question 6 [2 marks] Question 9 [4 marks]
What is the gradient of the line passing through the points with coordinates (2, 6) and (3, 11). The graph of y = 2 — o + 3 touches the x-axis. What are the possible values of k.

Question 7 [3 marks]
What is the equation of the parabola that passes through the point (2, 11) and has its vertex at (1, 4 ).

Question 16 [1, 1, 1, 2 =5 marks]

The height, t m, of a stone 7 seconds afer it is thrown vertically upwards is given by i = 41/~ 5.5,

a Find the maximum height reached by the stone.

Question 8 [2 marks] b What is the height of the stone when 7 = 37

What is the maximum value of y for y = § + 2x — 2"

¢ Find the time it takes for the stone to setum 10 the ground.

d Find the times at which the height of the stone is 60 m.
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